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COMMERCE
- (Honours Generic)
Answer the Questions from anf one Option.
Full Marks : 80

Time : Three hours

The ﬁgurés in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
Option-A
MICROECONOMICS
(Honours Generic)

Paper : COM-HG-1016
1. (A) Answer the following questions :
(any five) 1x5=5
woe @R Ued &l ¢ (Rt #is619)
(i) Define monopolistic competition.
gifar eferiibiel aarm ige B
(ii) Define cost function.

a5 e k@l |
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(1i7) What do you mean by budget line ?
 qicEe @R i e get o

(iv) Define social cost.

Aies T TS T |

(v) What is isogqugant ?
-G @20 & 2

(vi) What is substitution effect ?
s ol 5 ¢ '

(vii) What is collusive oligopoly ?
(=R pfes Aere @Rl T T5i9
2 '

(viii) What do you mean by income
clicel?

w2/ e & gel 2

(ix) Give an example of opportunity

cost.

el A" @bl TrRel 3 |
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(B) Choose the correct answer : (any five)
1x5=5

wm Ued die enedl ¢ (Rl 256!

(i) In monopolistic competition_____
products are sold.

i eferifoneTs JaRe___

TR [er! 2 |

(a) Homogenous
S

(b) Differentiated
(RIiE

(c) Both

&R
(d). None of the above
Go[{d dbIS W4T |
(ii) 1f good y is interior good the shape
of income consumption curve will
be

y I Fiee 9 =, W 9N et
@A Siphes = |

(@) upward slopping
el

(b) downward slopping
BECRl
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(c) backward slopping
fPrget czeTl

(d) None of the above
G99 GBI TR

(iii) AR curve is known as
' 9 T (AR) ST S I
(a) profit curve
ol® A AT @A
(b) demand curve or price curve
oifent (S0 A7 & 2;
(ely HAC cunve |
e I (AC) =4
(d}l None of the above
99T YIS T
(iv) The substitution effect can be
measured holding

ofoTs 2o’ ooid (FH! 4[ (ol 7 2

(@) income as constant

27 O

(b) utility as constant

¥ Tercaitret
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(c) price of one good as constant

5l w9 v 29

(d) price of all goods as constant

SR WS e B

(v) A firm will be at -equilibrium
regarding use of a factor
combination, when margihal rate
of technical substitution (MRTS)
between factors is to the
ratio of factor prices.

T oA TEEe fefee @4 wfewie
wrEiel @@ @R aigr Fifes
oifTaee 29 T QAT A |

(@) less than

&9

(b) more than

1R

(c) equal
Il

(d) independent
e
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(vi) Oligopolistic industries are
characterized by

AN IE59 @FY 2=

(@) a few dominant firms and
substantial barriers to entry

(TR Aoudial AfowE I
ST il A

(b) ~one .dominant firm and less
entry barriers

U TINS5 2l
Ay

(c) few firms with no barriers

(@RI oD S (I Al
= .

(d) None of the above
ST Ble =

(vii) The concept of group equilibrium
is applicable to

R SR AR e =

(a) monopolistic competition

Gifesia efecalire
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(b) perfect competition

)¢l eifocaifare]

(c) monopoly market

G IeT! TGIK

(d) None of the above
99TT GBI F

(viii) Price discrimination will be
profitable only when the
monopolist finds that the price
elasticity of demand for his
product is different in different
markets. (True/ False)

GRS PR G&ms e 79 Ko
SIeHITS 24 (@hedl bifens vd [Rfogisimel
(9¢9 w9 dfs R[ien Tume [iey 21|

(o%/9%%)

ix) A firm’s shut down point is
reached whf:n its AR fails to cover
AVC (True/ False)

AfePE Q4 T8 e Tt @ @fenl
371 1T AR NG AT T MG [
GElGIRGH

4 (Sem~1/CBCS) MICE/ISM/G 7 Contd.



2. Answer the following questions: (any five)
2x5=10
wete RIS Oes Tkl 8 (R 2lioo1q)

(a) Define cross elasticity of demand. What
is the nature of cross elasticity for
complementary goods ?
bifzn St ffoziomer et F1 | ARsEe
T (A0 © R [ZOZI7FOR FS (e
77 2

(b) Mention the properties of isoquant
curve.

TACLAVE ([ [HPPTR Srad 59 |

(c) What is inferior goods? Give an
example.

g v 5 7 <51 el

(d) Distinguish between money cost and
real cost. :

T A S 2F© IR Ay 72l |

(e) Mention the two conditions of firm’s
equilibrium. :
ool eSO Qi SIREIRIE 5 761 SrEs <5 |

(f/, ' What are the two factors affecting
income elasticity of demand ?

gamﬁm%%mwﬁcﬁw 75! Sl

4 (Sem~-1/CBCS) MICE/ISM/G 8



(g) Mention the two characteristics of
duopoly market.

ZHIEPIT 9T 707 (A% Sramd <4 |

(h) Mention the necessary conditions of
consumer equilibrium.

THATSISIT SR SRR SO G
3|

(i) Distinguish between leCd cost and
variable cost.

59 % O SRS 9 SN B
(j) Define economic region of production.
TeHves Sidtios (Fa Akel ol |

3. Answer any four questions of the following :
S5x4=20

weTe WAARS Replel bI9or9 Ted &4l 8
(a) Explain different types of price elasticity

of demand.
e BifenE RfezPer [ifen deiema il
.40

(b) Distinguish between economies and
diseconomies of scale.

Teoiva Sidtafod Maife i ﬁwﬁl PG
Siers /1< ol |
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(c) State the relationship between average
cost (AC) and marginal cost (MC) curve.

9% % A T (FUF T T>F el |
(d) | Write short notes on:
I HERGEIE

(i) Marginal Rate of Technical
Substitution (MRTS)

(i) Expansion path
#ON siforl

(e) Distinguish between Walrasian and
Marshallian stability analysis.

[eTIR i< e (2ol [eRes sers sl
T4l |
() Discuss the concept of industry’s long-

run supply curve under perfect
competition market.

ol efStaiierE I@9T TomeR e
@l (FUF LRECo! STEva S5y |

(g9 Mention the assumptions of
monopolistic market competition.

DR Aferaifiel T@TE SRERTETE Sy
1 | ‘ '
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(h) Explain the concept of kinked demaﬁd
curve.

@I pifew @ {I=ECe! iR 4

4. Answer the following questions : (any four)
10x4=40

wee. TaIEEs s Tl ¢ (R bIeeiT)

() Define Engel curve. Explain the
derivation of Engel curve from income
consumption curve for normal good.

2+8=10

arEE (S @l ol | welRe wee Y
Toreel (@UE RS GrEE S AT &G
S 91 2 2

(b) What is price consumption curve?
Explain the shape of price consumption
curve (PCC) if good x is Giffen good.

2+8=10-

vd Golrelel (31 6 2 x-felre E&J@'W%W‘ﬁ
SRV GERCISIICISIRN IS SN
(c) Show the welfare effect of cash subsidy

and kind subsidy with the help of
indifference curve analysis.

ol S AL S T AR CHATETE SO
e @A ReEEes A2 Sl F9 1
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(d) Explain the revealed preference theory
and make a comparative analysis with
ordinal utility analysis by Hicks and
Allen. 6+4=10

THIAeE o SaifEse st il Sl
28 9% " RIS GAGIeN 5 3
O PR SCEIbAl SR |

(e) Define price elasticity of demand.

. Discuss various factors affecting price

elasticity of demand. 2+8=10
< bifenl FEfogi-mos sk 574l | 2 erorifEe
<91 [foq SAmPTRE S =

(f) ~ Critically explain Stackelberg duopoly
model.
4 |

(g9 What is monopoly ? Discuss how price

output is determined under monopoly.

2+8=10

BT TR T 2 G TS 7 W= Tt
@ e 2 S 5
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(h) What is price discrimination ? Explain
the degrees of price discrimination
under monopoly market.

1 fAreniesd w7 2 wrrion oee w9
Rrenieedd [ieq TaEm=s w5 SRR |

() What do you mean by producer’s
equilibrium ? Explain producer’s
equilibrium with the help of isoquant
curve and isocost line. 4+6=10

RteoR T SRRy S[Fl 3 @l 2
AW SIRFAIN SREIH] HA-BAT SIS 7ol
T ([FAF ITRITS FIG 4

() Discuss different methods of measuring
price elasticity of demand.

V4 Bifenl FRIOZI#rel slni S Rfew siaformz
S 4 |
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Option-B
INVESTING IN STOCK MARKET
(Honours Generic)

Paper : COM-HG-1026

- 1. Answer any ten of the following questions
as directed : 1x10=10

o el eMEEE Reder 729 Oed o1l ¢

(@) . Which of the following is the most
suitable option for an investor with low
risk appetite ?

(i) Bond (i) Equity

(iii) Fixed Deposit (iv) Derivative
(Choose the correct alternative)

fw Remicel 202 =1 R e[ e

o (FACH! [ Sl THge g

() 3 (i) A (2520)
(iii) ZE S (iv) TEo =
(w7 [R5 AR Tleredr)
(b) NSE was incorporated in the year
() 1992 (i) 1994

(iti) 1995 (iv) 1996
(Choose the correct alternative)
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NSE (&9 b© s (2% 2

(i) So5R bIS (i) S5d8 B
(i) S5DE BIS (iv) SHDY. DO
(&% [qPsico! AR Tlersd)

(c) “The basic objective of investor is to
minimize the risk and maximize the
return on investment.” (Write whether

the statement is True or False)

SR Rl @ A 571 SIS FABIEL
2o [FEEFSR & 5w

(92 Tfeco! 351 ¢ 1351 f73)1)

(d) Investments in securities issued by
government have no risk. (Write whether
the statement is True or False)

R 9 A |
(92 Tfeor 551 ¢ &1 dl)

(e) Write the full form of CRISIL.
CRISIL 9 =« F#itor fe72it|

() Badla trading was banned by SEBI with
the introduction of

(i) ~ futures trading
(i) stock trading
(iij) cash trading

(iy) goods trading
(Choose the correct alternative)
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SEBI ¢ O] (FIC0IS #AMSHe (709 Imal TR
ffm @ 2

(i) SRR I
(i) T TN
(iii) o7 AR
(iv) W
(&% [[HC0! FR ©lers31)

(g9 In India, mutual fund scheme was first
‘ started in ‘
) 1964 (i) 1987
(iij) 1992 (iv) None of the above
(Choose the correct alternative)

TRee 2T Geze [l AfS St WKE (e

(i) S5Y8 BIO (i) Sadba IS
(iii) S>dI HTO (iv) ©2R9 9bI8 2
(5% RPE0! A Blered)

(h) Who is the regulatory authority of
Indian Stock Market ?

SO o TG FAFRIST SRS G 2
(i) In case of iceberg orders total number
of orders placed in the trading system

is not disclosed. (Write whether
the statement is True or False)
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S5l FEE (FaS, IPNTIR Swfos T
o TGS AR 2P A T2—
(492 Tfeco) 35t ¢ w61 fe731)
() Valuation of risks means quantification
or measurement of risk in monetary
terms. (Write whether
the statement is True or False)
ﬁw\w SR IR Rk Gt
eld e Jo |
' (9% BfeC5! 51 ¢ 3751 f77401)

(k) Internet-based trading services to
investors started in India from

(i) 27th January, 2000
i) 16th August, 2001
(iti) Sth April, 2002

(iv) 3rd November, 1994
(Choose the correct alternative)

o :
() 38 SR, 2000
(ii) SY B, 005

(i) ¢ afE, 2003

(iv) © TEF, So58
(%% [ech!l AR Cleredr)
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() Liquidity ratios are expressed in
(i) pure ratio form
(i) percentage
(i) rate of time
(iv) None of the above
WOl AN S B9 =7
() TS SHAS T
(i) *oiRe
(it7) 'W 29
(iv) 'SF 9ble 72T
(%% [e5ch! Nz Tered)

(m) Who are the participants in derivative
market ? :

TE (Y JGITS SAHATPI] (T 2

(n) Hedge means to minimise loss or risk.
s (Write whether
the statement is True or False)

2usd 9 (202 KoM oss |
(42 Tfeeh! =151 (1 f3i51 for<l)

(o) NAV indicates the cost value of the
units in a fund. (Write whether
the statement is True or False)
NAV ¢ & GGF (463 TFTLETF ToIH |
(92 TfeCo! b1 ¢ 5751 fo74)
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(p) Which of the foliowing is true about
primary market ?

() Primary market is the place where
public can buy and sell securities
from one another.

.(ii) Primary markets refer to the
mobilization of funds from the
public by corporates through the
issue of shares/debentures.

() Primary markets are place where

only short term instruments are
traded.

(iv)] Primary markets are markets
where commodities are sold.
(Choose the correct alternative)

AR TG AN oo (T o w7 2

() LRE TSN 2z 9w Gt FE T
SR GE SiNEE 2l efoefe @Y
% Ty T 2T |

(i) SRARE TG WOE B SRR 29
i /4ea [JER afimce Af% sike
T2 Ie |
(i) ANARE TG 202 G B IS &4
TEPIG N AGH /e AN el 59 |
(iv) AERE TG (2R G TG T TR |

TR 4 =
(@ﬁﬁﬁzﬁf@@@ﬁ\?@’)
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() There is daily settlement of stock option

contracts. (Write whether
the statement is True or False)
o i plea ool eifofn <1 =1 |
(92 TfeChl Fb1 (o [35) fo73)1)
() Commodity derivatives are used only
for hedging. (Write whether

the statement is True or Fualse)

7 OED (Y (e (fed I WIS = |
(492 Tfechl 351 ¢ 351 f740)

2. Answer any five of the following questions in
about S0 words each : 2x5=10

wETq RIgPIee] 2A5B! 25K SreITE 2F o B Wi %7 E
fooae Tex 4| 2

(@) Mention two advantages of investment
in bond.

qes RFEPE 70/ 7R S 4 |

(b) What is meant by ‘Corporate Annual
Report’ ?

?@anﬁtﬁﬁ’qﬁﬁ%w?

(c) Give the significance of NAV in mutual
fund scheme.

- Tozen Hffer Sicfe NAV T @%g e
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(d) Explain the meaning of options in
derivative market.

LD A TGO S e i |

(e} Mention two features of investment.
RS 701 @y e

() What is meant by ‘stock market order’?
B Ao SR e & @ 2

(g9 Give the meaning of the term
‘derivative’.
b qf2F A<l |

(h) Write two functions of stock exchange.

- R G g

(i) Define Mutual Fund.
CrRe Rl e kel @l |

() Give the meaning of price band..

#izp @ed wd |
3. Answer any four of the following questions
in about 150 words each : 5x4=20

©ol [Tl BIfH6 eXE 2TSIRE AF Seobl Wi
79 foogo Ted ol ¢

(a). Give the meaning of bond and explain
its characteristics.

a9 1Y @R Bl Wi T R EETEE ik
41 |
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(b)

(¢

(@)

(e)

(9)

(h)

‘Write an explanatory note on IPO and

FPO.

T fAe Sin @, 1. ¢ 7 8o bl Reazeigs
(oIl Te7el] | ;

Mention the benefit of credit rating.

(@I (05T AR Srar 41 |

What is company analysis ? Who are
the user of company analysis ? Discuss
in brief.

(T R & 2 @ Reagdas
TR P 2 TR qefet 5 |

Explain different types of financial
future.

&fen ooimm e Sfime @ <1

Distinguish between commodity

derivatives and financial derivatives.

w%@w@mﬁ%%@w@am A1
IGEIN

Explain different types of SIP.

RS 2R SIP iyl =1 |

What is the significance of moving
average ?

Sy eiEes ey 5 B
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4. Answer any four of the following questions

: in about 600 words each : 10x4=40
O [ACPIC! BfAn! 2% SN ARl oobl S
oq foeae Teq &l ¢ i

(@) Explain the procedure of buying and
selling of securities in the stock market.

wgel TEe Afvele T ReEE ARl !
41 |

(b) Explain the advantages and disadvantages
of mutual funds. : 5+5=10

Traze [l ~Afe Al Sise SRR 9 |

(c) Discuss the evolution of derivative
market in India.
SRS © TEH (AT T STl B |

(d) What is an order ? Explain different
types of orders used in stock market
for buying and selling of stocks with
examples. 2+8=10
s 5 2 ke qeEe ORH []I-GI0R (e
[azrs oA eIRa TR SHIgseRT2 A1t <5 |

(e) Mention various sources from which an
investor can collect financial
information about a company.

‘ RIS GO ™A GBR A 8w
welf e A 7[1 [ieq Tepnz T 741 |
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@)

(h)

0

What is meant by risk? Explain the
methods for valuation of risk with

example. 2+8=10
fReiveTIss! 310 & 3@ 2 Remeiissel i
o2 Cgse I 41 |

Mention the common steps to be
followed for mvestment in mutual fund
‘online’.

Wﬁﬂi@miﬁﬁﬁﬁmﬂaqu
<0 AR Wﬂﬂqﬁmﬁ eIl

Differentiate between future and option
contracts. Also state their comparative

advantages. - 5+5=10
qifbcetal SfEE pie Sie SRAS 5 siew

wmmﬂemliﬂwww
HRACRR 01 0|

Who are the market participants in the
commodity  futures  exchange
environment and what goals do they
pursue ?

W*ﬁweﬁﬁmﬂﬁmﬁ—mﬁfﬁw
(I SIF (OSTAICE [ o750 SRR I 2

Elaborate the types of mutual funds
based on structure.

s fen eiaa Sorzorl ez
ﬁ@ﬁlﬂ)fWW|
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